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QUESTION 1

If the destination IP address of a received unlabeled packet is successfully matched in the FIB, which of the following
statements are true? Choose two answers. 

A. A PUSH label stack operation must be performed. 

B. The outgoing interface and next-hop address will be determined from the FIB. 

C. The packet can be forwarded as a labeled or unlabeled packet. 

D. A POP label stack operation may be performed. 

Correct Answer: BC 

 

QUESTION 2

In an OSPF network, which of the following is NOT a result of manual summarization on an ABR? 

A. It can reduce the topological database size. 

B. It can reduce the size of the route table. 

C. It can reduce the number of Summary LSAs. 

D. It can reduce the number of Router LSAs. 

Correct Answer: D 

 

QUESTION 3

Click on the exhibit. 
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Router R2 advertises the aggregate prefix 10.10.10.0/24 into Area 1. Why would LDP aggregate-prefixmatch be
enabled on router R3? 

A. To reduce the number of LDP sessions 

B. To reduce the number of LIB and LFIB entries 

C. To bypass the LDP exact prefix match rule 

D. To export summarized routes from OSPF to LDP 

Correct Answer: C 

 

QUESTION 4

Router R3 signals an LSP, reserving 1Gbps bandwidth on a 10Gbps link. RSVP configuration limits reservable
bandwidth to 20 percent on the egress interface. Which of the following statements is true? 

A. The egress RSVP interface has 80 percent bandwidth unreserved. 

B. LSPs can reserve an additional 9.9 Gbps bandwidth on this RSVP interface. 

C. The head end reserves 100Mbps for the LSP. 

D. The egress RSVP interface has 1Gbps bandwidth unreserved. 

Correct Answer: D  

 

QUESTION 5
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Which of the following is NOT a benefit of "Hub and Spoke\\'\\' VPLS deployments? 

A. They reduce the number of SDPs that need to be configured. 

B. They can be used to work around physical topologies that prevent a fully meshed deployment. 

C. They prevent loops that can be introduced by mesh deployments. 

D. They can simplify the implementation of security policy enforcement and packet inspection. 

Correct Answer: C 
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